
SAP ABAP table WDR_TEST_SCIRP7 {City-Airport assignment}

WDR_TEST_SCIRP7

MANDANT [CLNT (3)]

CITY [CHAR (20)]

COUNTRY [CHAR (3)]

AIRPORT [CHAR (3)]

MASTERCITY [CHAR (20)]

SAIRPORT

MANDT [CLNT (3)]

ID [CHAR (3)]

 WDR_TEST_SCIRP7-AIRPORT = SAIRPORT-ID 
0..N

1
SGEOCITY

MANDT [CLNT (3)]

CITY [CHAR (20)]

COUNTRY [CHAR (3)]

 WDR_TEST_SCIRP7-CITY = SGEOCITY-CITY 

0..N1  WDR_TEST_SCIRP7-COUNTRY = SGEOCITY-COUNTRY 
0..N1  WDR_TEST_SCIRP7-MASTERCITY = SGEOCITY-CITY 
0..N1

T000

MANDT [CLNT (3)]

 WDR_TEST_SCIRP7-MANDANT = T000-MANDT 

0..N

0..N


